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 (9902-9909=7) 7*$25(ALWAYS)*4= -700 It was a gain for the short but loss for the Long)
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$1000 * 5%(10%/2) = $50
50(1.035)+50= 101.75 (Annual yield/2=0.035)
$1124.75(1.06)-101.75= $1090.485
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1-0.7019=0.2981. Look at table. You minus 1 because d1 is negative. 
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- Value of swap is always $0 at initiation!! 
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ERROR!!!!!!
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Expires in 6 months based on a 180 day libor.
h=180
m=180
h+m= 360
Lo(h+m)= 0.0695
lo(h)= 0.0660
FRA= (1+Lo(h+m)(h+m/360) / 1+Lo(h)(h/360) - 1) (360/m)
FRA= (1+0.0695(360/360) / (1+0.0660)(180/360) -1) (360/180)
FRA= (1.0695/1.033) -1 (360/180)
FRA= 0.0707
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h= 180
m=180
g= 55
h-g=180-55= 125
h+m-g= 180+180-55= 305
Lo(125(h-g) = 0.0665
Lo(305)(h+m-g)= 0.0724
Vt= 1 / 1+Lo(h-g)(h-g/360) - ((1+FRA rate(h/360)/1+Lo(305)(305/360))
Vt= (1/1+0.0665(125/360)) - ((1 + 0.0707(180/360) /1+0.0724(305/360))
= (1/1.023090278) - (1.03535/1.061338889)
 = 0.9774308499-0.9755131096 (USE ONLINE CALCULATOR) 
=0.001918
50 000 000 *0.001918= R 95 900
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Same as P67 Q 3a 
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Short position will hedge. The gain on the contract will offset the reduced interest rate that can be earned when rates fall. 
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SAME AS P67 Q3C
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200 000 000((0.05-0-06)(90/360)/(1+0.05(90/360)))= -493827.16
Negative sign is a gain for the short. 
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So(1+r)^T
1224.46(1+0.07)^135/365
= $1255.49
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Do the following:
- Enter into a short futures-  position - That is to sell Platinum at $1261.13 per ounce
- Buy platinum at $1224.46
- At expiration deliver the ounce and receive $1261.13
$1261.13-$1255.49 = $5.64 arbitrage profit per contract.  
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SIMILIAR QUESTION P144 Q9 textbook
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P143 Q2 SIMILIAR
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$2000 -1500 =$500 
$500/100 tonnes of copper= $5
$323+$5 = $328 - She was in a short position - 
IF ALICIA WENT LONG position (buying) - not the question
$325-5=$318
ANSWER $328 if the maintenance margin call would rise ABOVE this amount
$318 when the maintenance margin call would fall BELOW this amount
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(selling)
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5.60+84.71-85.00
=$5.31 - answer
88.00/(1+0.06)^239/365
=84.71
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5.6+84.71-6.60
= $83.71
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Page 245 Q9
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Page 245 Q9 C
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Synthetic call: 
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6.60+85-90 = 6.89
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The actual call is cheaper than the Synthenic call 
Therefore, you buy the call and sell the Synthenic call. And
You will yield a risk free profit of 6.89-5.60= 1.29$
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=(1+r) - d / u- d
u= 1+0.2=1.2
d= 1-0.2= 0.8
(1+0.08) - 0.8 / 1.2 -0.8
= 0.7
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SoN(D1) -Xe^-rctN(d2)
N(d1) - use the table: -0.11=0.5438 but because negative: 1-0.5438= 0.4562
N(d2) - use the table: -0.39= 0.6517  But because negative: 1-0.6517= 0.3483
133.15*0.4562- 145e^-0.04*129/365°*0.3483
=*********** Just need to calculate with calculator. 
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R10 000 000
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10 000 000/10= $1 000 000
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Pays US company
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Pays ZAR company
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$1 000 000*0.06
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R10 000 0000*0.04
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=R400 000
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= $60 000
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R10 000 000 gets paid to ZAR
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$1 000 000 gets paid to USA 
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Small cap equity: ( 653.30/712.70)-1 (10 000 000) =-$833 450
The asset manager owes $833 450 to the dealer
Large Cap: (1270.92/1230.10 - 1) (10 000 000)= $331 843
The asset Manager owes $331 843 to the dealer
Overall payment to the dealer is $833450+$331843= $ 1 165 293
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SAME AS P 319. Q 5
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Contingent claim. Long position.
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Normal Backwardation

michael
Typewritten Text

michael
Typewritten Text

michael
Typewritten Text

michael
Typewritten Text

michael
Typewritten Text

michael
Typewritten Text
Receiver swaption: Enters into a swap to receive the fixed rate and pay the floating rate. 
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Payer swaption: Allows the holder to enter into a swap to pay the fixed rate and receive the floating rate.
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